TH2F12AFERAS BRELR

RE BEEFBEEHRRACHREHE

B & % % & B H BERE
FRAHZ fREHMmMEKXEZEE 0157 =
IRAE (%) fAE M XZE 0157 b= 1%
KT DY fREHMmMEXREZEE 0157 =
RIAITeL frEHMmEXBE 0157 f= %
MNAYUBYDHA REHmMEXEE 0157 = 1
BirEF—X fmEHImXBE 0157 = %
BEF—X(T4RX=—) fREHMEKREE 0157 = 1
71)—Ls (HE 1) REHMERBEE 0157 bz %
Azl fREHmMEKXEE 0157 =
Pl EHMmEXRBE 0157 b= %
=ZAYICAIZRL fREHMmMEXBE 0157 = %
|50 frEHMmERBE 0157 b= %
BAE fREHMmMEKRBZEE 0157 =
BHH&E (5) fAE M XZE 0157 b= 1%
AT F—RX fREHmMEXZEE 0157 =
V—R(DFR1EK) fmE M XZE 0157 b= 1%
YINR—HYY frE M KIBE 0157 = %
RKEV)—L(BFERD) fAE M XZE 0157 b= %
fzIFDIKE fREHmMEKREE 0157 =
RILFILY—R (INE) frEHMmEXRBE 0157 f= %
FaaL—ko)—L frE M KIZE 0157 = %
DEZAIZRL(AYL) EHMmEXBE 0157 = %




TH2F12AFERAS BRELR

RE BEEFBEEHRRACHREHE

B & % % & B H BERE
2E fREHMmMEKXEZEE 0157 =
EAITHF—X (HY) fAE I XZE 0157 b= %
HULE fREHmMEXEZEE 0157 = 1
AFL R frE Mt KEZE 0157 b= %
DYDHEA fREHmMEXEE 0157 =
—AAXX frE Mt REZE 0157 f= %
EX fREHMEXEBE 0157 = %
BREbE (RA) fAE Mt XZE 0157 = 1%
SUDIF (DY) fREHmMEKRZEE 0157 =
SYNF(DY-2) fAE I XZE 0157 = 1%
AUt (IESF) fREHMEKXEE 0157 = 1
SYMITF (FYABE) fmE Mt XZE 0157 b= 1%
MERF—X EHMmMEXEBE 0157 = %
BX frE M REEE 0157 b= %
EHE fREHmMEXREZEE 0157 =
2AF—XEARLYI VT frE Mt RBE 0157 f= %
TYYRD N L frE M KBE 0157 = %
A=T oy frEtmEXBE 0157 b= 1%
BMFEIXS fREHmMEXEZEE 0157 = 1
HH<h fAE M XZE 0157 b= %
FEH<H (k- fE) fREHmMEKXEE 0157 = 1
BEH < (EY)) fAE M XBE 0157 b= %




TH2F12AFERAS BRELR

BRE BEEHBHEASHRIETRERE
E @& 4 B® & E H wmEER
I—7 L GRER) frE M KBE 0157 = %
AT IR (TIL—) BT frEHMmEXREBE 0157 = %
A—T I OIL—)TL—> g M KIZE 0157 k= %
ARt )—(FLroY) fAEHIMmEXBE 0157 = 1%
BEBIIL—YE)—(HDA) frE M KIBE 0157 = %
ARTRE (M) 50¢g frE Mt REBE 0157 f= %
mRHL(HIE-T1L)40g fREHMEXEBE 0157 = 1
MREBIT(RD) frEHMmEXRBE 0157 f= %
AEEBT (D) ABT fREHMmMEKXEE 0157 = 1
MRRGIT D) BESTF fAE M XZE 0157 =
MEEBT (D) EEXRE fREHMmMEKXEE 0157 = 1
AENHOLAYATLI0g fAE M XBE 0157 =
REIAT—(HoUF) BEHmMEXREE 0157 =
MRVAF—(Hvh) frEHMmERBE 0157 b= %
REITHIT (Fvh) fREHmMEKRZEE 0157 b= 1%
b g B2 fAE Mt XBE 0157 =
MENILREIL fREHMEXEBE 0157 =
MEMNNTTM40g frEtm4EXBE 0157 = 1%
MREVLET T4 g MM KIZE 0157 = %
MEFRE(1x3 &) fmE M XZE 0157 = %
mR¥I—Y fRE M XBE 0157 =
MRIBA (R F5ehvh) fmEHIMEXZE 0157 = %




TH2F12AFERAS BRELR

BE EAEFBAERRTHREHE
B & 4% % & E H BmE KR
MR (R F8ghvh) fREHmMEXEE 0157 = 1
ARIBA (RFHH10ghVE) EHMmEXEBE 0157 b= %
AEBREBRAFHE15ghU) fREHMEKXEE 0157 = 1%
ARBA(BfFHH40ghVh) EHMmEXEBE 0157 b= %
ARBA (R FHE8ghvk) fREHmMEXZEE 0157 = 1
ARBA (RAEL3ghyh) BREHMERBEE 0157 bz %
ARINAUVRRS frE MM XBE 0157 = %
AEIOYT (UMRRE) fAEHIMEXZE 0157 = 1%
BEY—ELTS4/50¢g frE M XBE 0157 = %
AR EE(HIR)30g frE Mt KBE 0157 f= %
R (H18)40g fREHmMEKREE 0157 b= 1%
HREE(HIE)50¢g fREHMmEXRBE 0157 p= %
Rk (HiE-AY) fREHMmMEKRBZEE 0157 =
MREEND fAEHMmERBE 0157 = %
ARSI (HIR) 408 fREHmMEXZEE 0157 b= %
ARSIE (HIE-AY) BREHMERBEE 0157 bz %
ARSI (AT fREHMmMEKXEZEE 0157 b= %
AREE (BE) 40g fREHMmEXRBE 0157 f= %
AESE (BE) 508 fREHmMEKRZEE 0157 b= 1%
AESHL (H18)30g frE Mt RIBE 0157 f= %
mEEIHL (HIE)40¢g fREHmMEKRZEE 0157 = 1
MREHL (HIE) 508 fAEHMmERBE 0157 f= %
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BE EAEFBAERRTHREHE
B & % % & E H BERE
MRSAE (HR-FZ)30g fREHmMEXEE 0157 = %
BE1—TA frEHMmERBE 0157 f= %
MEBHRATS160g BEHmMEXREZEE 0157 =
mEBRERAT)vE— fAEHIMmEXZE 0157 =
ARV T—RAZFY REHMmMEXEBE 0157 = %
AEKBEASL REHMERBEE 0157 (=3
MEWREE fREHmMEXEE 0157 = 1
BEFEIPEI0g fAEHIMEXZE 0157 b= %
AEREL (Hig-AY) fREHmMEKREE 0157 = 1
AEEF EHMmEXRBE 0157 b= %
BEFXN\UIN—450g fREHmMEKXZEE 0157 b= 1%
AEFFUNIN—460g fREHMmERBE 0157 f= %
AEFEUR—IL fREHmMEKRZEE 0157 =
BRFFUR—IL(LIN—AY) fAEHmERBE 0157 = %
MRPER g M KIZE 0157 = %
MEBYDHALHS fAE Mt XBE 0157 = %
REBYDALHI (KIRE) fREHmMEKREE 0157 = 1
MREG EHMmEXEBE 0157 b= %
MERE(K) g MM KZE 0157 k= %
AEESHLAILETL REHMEXRBEE 0157 (=3
REBISIZIT frE M XBE 0157 = %
AEEADD(ELBOg) frEtm4EXBE 0157 b= 1%




TH2F12AFERAS BRELR

BRE BEEHBHEASHRIETRERE
E @& 4 B® & E H wmEER
BREADD(ELAOg) fREHMmMEKXEZEE 0157 (Ea e
AEICACAEZL fmE I XZE 0157 =
MEEEYLT fREHmMEXEZEE 0157 = 1%
HEBRAE (ELAYI10g) frEHMmERBE 0157 = %
AERBERA (BE) 3mm3x3 fREHMmMEKREZEE 0157 = 1
AEBRA (R—X)2mm3x3 fAEHMmERBE 0157 f= %
AEBRA(B—X)3mm 3x3 frE MM KZE 0157 = %
mEBEREBE fAE M XZE 0157 =
ARBERLY (EMm) fREHMmMEKREZEE 0157 =
ARBERALL (R fmE M XBE 0157 =
AEFRAA—XEI3mm 1x3 g MM KIZE 0157 = %
BRIZUITIVE(FIvR) frE Mt REBE 0157 f= %
AER—IY (AYk) fREHmMEXZEE 0157 = 1
BEA—IY (HFAK) fAE M XBE 0157 = 1%
AEIFIES fREHmMEKRZEE 0157 = 1
AERILRINL (HVb) frEHMmERBE 0157 b= %
RIS — fREHMEXEBE 0157 = 1
BRIV FHY50g frE Mt RBE 0157 p= %
MROERE fREHMmMEXREZEE 0157 =
MEBEE(EEXRE) fAE Mt XBE 0157 =




